
0XOWLSO\LQJ :KROH 1XPEHUV
3DORPDU &ROOHJH

����

2EMHFWLYHV

ȕ ,QWURGXFH VSHFLILF YRFDEXODU\
ȕ'HILQH SURSHUWLHV RI PXOWLSOLFDWLRQ
ȕ/HDUQ KRZ WR XVH QXPEHU OLQHV WR PXOWLSO\
ȕ8VLQJ 3DUWLDO 3URGXFWV WR PXOWLSO\

7R ILQG RXW KRZ PDQ\ FDQV WKHUH DUH LQ WKUHH
��SDFNV UHTXLUHV UHSHDWHG DGGLWLRQ ZKLFK LV
FDOOHGPXOWLSOLFDWLRQ�

6 + 6 + 6 = 3× 6 = 18
7KH PXOWLSOLFDWLRQ VLJQ �×� FDQ DOVR EH ZULWWHQ
DV · RU E\ XVLQJ SDUHQWKHVHV� 7KH IROORZLQJ DUH
DOO DOVR UHDG DVȐ3 WLPHV 6 HTXDOV 18�ȑ
3 · 6 = 18, 3(6) = 18, (3)(6) = 18

,Q WKH VWDWHPHQW 3× 6 = 18� 3 DQG 6 DUH FDOOHG
IDFWRUV DQG 18 LV FDOOHG WKH SURGXFW�

3URSHUWLHV RI 0XOWLSOLFDWLRQ

ȕ0XOWLSOLFDWLRQ 3URSHUW\ RI =HUR�
7KH SURGXFW RI 0 DQG DQ\ QXPEHU LV 0�

0× 3 = 0 DQG 3× 0 = 0
ȕ0XOWLSOLFDWLYH ,GHQWLW\ 3URSHUW\� 7KH
SURGXFW RI 1 DQG D QXPEHU LV WKH QXPEHU�

1× 3 = 3 DQG 3× 1 = 3
ȕ&RPPXWDWLYH 3URS RI 0XOWLSOLFDWLRQ�
&KDQJLQJ WKH RUGHU RI WKH IDFWRUV GRHV QRW
FKDQJH WKH SURGXFW�

3× 2 = 6 DQG 2× 3 = 6
ȕ$VVRFLDWLYH 3URSHUW\ RI 0XOWLSOLFDWLRQ�
&KDQJLQJ WKH JURXSLQJ RI IDFWRUV GRHV QRW
FKDQJH WKHLU SURGXFW�
(2 · 4) · 3 = 24 DQG 2 · (4 · 3) = 24

ȕ'LVWULEXWLYH 3URSHUW\� 0XOWLSOFDWLRQ
GLVWULEXWHV RYHU DGGLWLRQ�

2(3 + 4) = 2 · 3 + 2 · 4

0XOWLSO\LQJ /DUJHU QXPEHUV

:KHQ QXPEHUV DUH ODUJH ZH FDQ ZULWH QXPEHUV LQ H[SDQGHG IRUP DQG XVH WKH GLVWULEXWLYH SURSHUW\
WR KHOS PXOWLSO\�

4 · 23 = 4 · (20 + 3) = 4 · (20) + 4 · (3) = 80 + 12 = 92
80 DQG 12 DUH FDOOHG WKH SDUWLDO SURGXFWV� 7KH SURGXFW LV WKH VXP RI WKH SDUWLDO SURGXFWV�

:H FDQ DOVR GR WKLV YHUWLFDOO\ E\ SODFLQJ WKH
QXPEHUV RQ WRS RI HDFK RWKHU� ,W LV XVXDOO\ HDVLHU
WR SODFH WKH VPDOOHU QXPEHU RQ WKH ERWWRP�

2 3
× 4

1 2← 4 · 3
+ 8 0← 4 · 20

9 2

5 8
× 3 2

1 6← 2 · 8
1 0 0← 2 · 50
2 4 0← 30 · 8

+1 5 0 0← 30 · 50

1 8 5 6

6LPLODU WR DGGLWLRQ� ZH FDQ VKRUWHQ WKH SURFHVV
E\ FDUU\LQJ� :H PXOWLSO\ WKH RQHV SODFH YDOXH
RI WKH ERWWRP QXPEHU WR WKH HQWLUH WRS QXPEHU�
WKHQ PRYH WR WKH WHQV SODFH� DQG VR RQ�
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1 1 6← 2 · 58
+1 7 4 0← 30 · 58

1 8 5 6

([DPSOHV

��8VH WKH QXPEHU OLQH WR ILQG WKH SURGXFW�
D� 2× 5 = 10

E� 6× 7 = 42

��0XOWLSO\�

D� 56× 37
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✓
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2 0 8 5 3
1 3 9 0 2 0
+2 3 1 7 0 0
3 9 1 5 7 3

/HWȍV 7U\ ,W

��8VH WKH QXPEHU OLQH WR ILQG WKH SURGXFW�
D� 3× 3

E� 8× 5

F� 6× 4

��0XOWLSO\�

D� 58× 3

5 8
× 3

E� 45× 27

4 5
× 2 7

F� 285× 134

2 8 5
× 1 3 4

0XOWLSO\LQJ ZLWK 1XPEHU /LQHV

<RX FDQ XVH D QXPEHU OLQH WR PXOWLSO\ ZKROH
QXPEHUV� $OZD\V VWDUW DW 0� <RX PD\ UHODEHO
WKH QXPEHU WR PDNH LW HDVLHU�
3× 2 PHDQV WKUHH JURXSV RI 2 HDFK�

3UDFWLFH

�� ,GHQWLI\ ZKDW SURSHUW\ LV EHLQJ XVHG�
D� 11 · 50 = 50 · 11

E� (2 · 3) · 5 = 2 · (3 · 5)

F� 28 · 0 = 0

G� (1 · 3) · 7 = (3 · 1) · 7

H� 5(2 + 6) = 5 · 2 + 5 · 6

I� 1 · 17 = 17

��8VH WKH QXPEHU OLQH WR ILQG WKH SURGXFW�
D� 4× 2

E� 5× 4

F� 6× 5

��0XOWLSO\�
D� 28× 0

E� 17 · 1

F� 45× 6

G� 63(21)

H� 253× 42

I� 1, 259× 742



Multiplying Whole Numbers
Answers to Practice

1. Identify what property is being used.

(a) 11 · 50 = 50 · 11 commutative property of multiplication
(b) (2 · 3) · 5 = 2 · (3 · 5) associative property of multiplication
(c) 28 · 0 = 0 multiplication property of zero
(d) (1 · 3) · 7 = (3 · 1) · 7 commutative property of multiplication
(e) 5(2 + 6) = 5 · 2 + 5 · 6 distributive property
(f) 1 · 17 = 17 multiplicative identity property

2. Use the number line to find the product.

(a) 4× 2 = 8

0 1 2 3 4 5 6 7 8 9 10

(b) 5× 4 = 20

0 4 8 12 16 20 24 28 32 36 40

(c) 6× 5 = 30

0 5 10 15 20 25 30 35 40

3. Multiply.

(a) 28× 0
0

(b) 17 · 1
17

(c) 45× 6

4 5
6

2 7 0
×

(d) 63(21)
6 3
2 1
6 3

1 2 6
1 3 2 3

×

(e) 253× 42
2 5 3

4 2
5 0 6

1 0 1 2
1 0 6 2 6

×

(f) 1, 259× 742
1 2 5 9

7 4 2
2 5 1 8

5 0 3 6
8 8 1 3
9 3 4 1 7 8

×

1


	multiplying handout
	multiplying solutions

